Air Cylinder

Series CS1

2125, 9140, 9160, 2180, 8200, 2250, 2300

Variations

CJ1

Standard variations| |Bore size

Series Action Style Basic style Page

Rod boot||Copperfree| (MM CJP

CJ2
— Lube L 4 L ﬁg S
160 CM2

180 =

Single rod 200 C85

—Series CS1 Non-lube L @ ® ggg 1.10-2

(2125 to 160 Only) Q

Standard
Series CS1

125
— Air-hydro @ @ 140 MB
160

Double|_| Cc9s5

acting
125
— Lube ‘ ‘ 140 CA 1

160
180 H Csi
Double rod 200
—  Series Non-lube @ @ ggg 1.10-21
CS1wW

Series CS1W

125
— Air-hydro @ @ 140
160

Low friction
Series CS10Q

Single rod 125
Double Series Non-lube @ 140 =1.10-30
CS100Q 160

acting

Applicable Auto Switch (Applicable bore size: 8125 to 8200 only)  Made to Order

Band mounting D-A3/A4
Reed
switch ] ] Refer to p.5.4-1
Tie rod mounting D-A5/A6, D-A59W for made to order
] specifications for
Solid state |Band mounting D-G3/K3 series CS1.
swich - - -
Tie rod mounting B-EEBD,/AJSIEI’:E?DFFSNT' D-F500W/J59W,

1.10-1



Air Cylinder/Standard

Series CS1

Lube, Non-lube: 9125, 9140, 2160, 180, 200, 250, 3300
Air-hydro: @125, 140, 160

How to Order

CS1|L 160/ 300||JR

Mounting J lRod boot/Cushion
B | Basic Rod J Nylon tarpaulin
L | Foot boot| K | Heatresistant tarpaulin
F | Frontflange N__ | No cushion
G | Rear flange 5 R | With cushion on rod side
C | Single clevis é H | With cushion on rod side
D | Double clevis o With both sides cushion
T | Center trunnion ~ | (Air-hydyo style: No cushion)
. + If specifying more than one symbol,
Tube material ¢ plegse zdi?:ate them in alphaﬁetical order.
Symbol | Bore size | Tube material =% The air-hydro style has no cushion. In
2125 to g160|Aluminum tube case of this style, no symbol indicates no
~ [#1801t0 #300| Steel tube cushion.
F  |#1251t0 #160| Steel tube
¢ Cylinder stroke (mm)
(Refer to p.1.10-3 for max. stroke table.)
Style ¢
— Lube sBore size
al Non-lube Lube, Non-lube Air-hydro
H Air-hydro
125 | 125mm 125 | 125mm
140 | 140mm 140 | 140mm
160 | 160mm 160 | 160mm
180 | 180mm
200 | 200mm
250 | 250mm
300 | 300mm
Mounting Bracket Part No.
Borle size (mm) 125 140 160 180 200 250 300 Refer to p.1.10-7 for How to Order Auto
Foot™ CS1-L12 | CS1-L14 | CS1-L16 | CS1-L18 | CS1-L20 | CS1-L25 | CS1-L30 Switches Style.
Flange CS1-F12 | CS1-F14 | CS1-F16 | CS1-F18 | CS1-F20 | CS1-F25 | CS1-F30
Single clevis CS1-C12 | CS1-C14 | CS1-C16 | CS1-C18 | CS1-C20 | CS1-C25 | CS1-C30
Double clevis** | CS1-D12 | CS1-D14 | CS1-D16 | CS1-D18 | CS1-D20 | CS1-D25 | CS1-D30

* Order 2 foot brackets for one cylinder.
#* \When ordering the double clevis, the clevis pin and the cotter pin (2 pcs.) are attached.

1.10-2



JIS system

Double acting style

e Made to Order

Refer to p.5.4-1 for made to order
specifications for series CS1.

Air Cylinder/Standard Series CSl

Specifications

Style Lube, Non-lube Air-hydro
Fluid Air Turbine oll
Proof pressure 1.57MPa

Max. operating pressure 0.97MPa

Min. operating pressure 0.05MPa 0.06MPa
Piston speed 50 to 500 mm/s 0.5to 200 mm/s
Cushion With Without

Ambient and fluid temperature

0to 70°C (No freezing), Air-hydro: 5 to 60°C

Thread tolerance

JIS class 2

Stroke length tolerance (mm)

250 or less: "1, 251 to 1,000:

+1.4

1501 to 2000: *22

5. 1,001 to 1,500: 18

+2.6

0. 2001 to 2400: 7

. Basic, Foot, Front flange, Rear flange,
Mounting . . . .
Single clevis, Double clevis, Center trunnion
Accessories
Mounting Basic Foot Front Rear Single | Double | Center
00 flange | flange clevis clevis | trunnion
Clevis pin, _ _ _ _ _ _
Standard Cotter pin )
Rod end nut [ [ [ J ([ J [ J [} [
Single
knuckle joint L L b L L L L
Accessory|Double
knuckle joint PS PY PS ° PY P P
(Knuckle pin,
Cotter pin)
Rod boot [ J [} [ ] [} [ J [
# Refer to p.1.10-19 in case of using rod end nut together with double knuckle joint.
Max. Stroke (mm)
Tube material Aluminum alloy Carbon steel tube
Mounting Basic :
bracket Rear flange S
Single clevis Foot Rear flange Foot
Double clevis Front flange gln%lle cIIeV|§ Front flange
Bore Center trunnion T Ests
125 1000 or less 1400 or less 1000 or less 1600 or less
140 1000 or less 1400 or less 1000 or less 1600 or less
160 1200 or less 1400 or less 1200 or less 1600 or less
180 — — 1200 or less 2000 or less
200 — — 1200 or less 2000 or less
250 — — 1200 or less 2400 or less
300 — — 1200 or less 2400 or less

Second Class Pressure Vessel

Rod Boot Materials

In case of exceeding the following strokes, the
cylinder is in the scope of the second class
pressure vessel.

Bore size (mm) Stroke (mm)
180 1,569
200 998
250 813
300 564

Symbol Material Max. ambient temp.
J Nylon tarpaulin 60°C
K Heat resistant tarpaulin 110°C*

* Max. ambient temperature for the

rod boot itself.

1.10-3

we
CS1




Series CS1

Major Material and Surface Treatments

Description Material Note
Cover Rolled steel plate Black coated
Aluminum alloy Hard anodized
Tube #1235, #140, 2160 Carbon steel tube Inside: Hard chrome plated
2180, 8200, 2250, @300 Carbon steel tube Inside: Hard chrome plated
Lube NBR JIS B2401 O ring
Sliding seals | Non-lube NBR PNY, NLP
Air-hydro NBR SKY, RPS
Piston rod Carbon steel Hard chrome plated
Lube Cast iron
Piston Non-lube (Sﬁiﬂggiwg:alg gs(t:ziiri[n) Chromated (In case of aluminum alloy cast iron)
Air-hydro (S?éiﬂﬂsiwg?lg gs(t:?rf)tn) Chromated (In case of aluminum alloy cast iron)

Weight/Aluminum tube: Lube style (Non-lube style, Air-hydro style) (kg)
Bore size (mm) 2125 2140 2160
Basic 14.85 17.98 24.77
(13.73) (16.57) (23.03)
16.48 20.50 27.57
Foot
(15.36) (19.09) (25.83)
Front flange 17.53 22.98 31.16
9 (16.41) (21.57) (29.42)
Ba§ic Rear flange 17.53 22.98 31.16
weight 9 (16.41) (21.57) (29.42)
Single clevis 17.92 22.27 30.26
9 (16.80) (20.86) (28.52)
Double clevis 18.38 23.02 31.11
(Clevis pin, Cotter pin) (17.26) (21.61) (29.37)
Trunnion 18.98 23.71 32.17
(17.86) (22.30) (30.43)
Additional weight per 100 stroke 1.77 1.96 2.39
Single knuckle joint 0.91 1.16 1.56
) Double knuckle joint
Accessories (Clevis pin, Cotter pin) 1.37 1.81 2.48
Rod end nut 0.16 0.16 0.23
# () shows the weight of non-lube and air-hydro style.
Calculation example: CS1L160-500
« Basic weight------------- 27.57 (Foot style, 5160)
« Additional weight:----:2.39/100 stroke
« Cylinder stroke:------ 500 stroke
27.57 + 2.39 X 500/100 = 39.52kg
Weight/Steel tubing (kg)
Bore size (mm) 2125 | 9140 | 9160 | 2180 | 2200 | @250 | @300
Basic 15.20 | 18.38 | 25.24 | 34.16 | 42.66 | 79.78 | 115.94
Foot 16.83 | 20.90 | 28.04 | 38.36 | 47.54 | 89.28 | 133.22
Front flange 17.88 | 23.38 | 31.63 | 43.99 | 54.57 | 101.62 | 146.14
Standard | Rear flange 17.88 | 23.38 | 31.63 | 43.99 | 54.57 |101.62 | 146.14
weight | single clevis 18.27 | 22.67 | 30.73 | 42.55 | 52.56 | 98.17 | 149.22
Double clevis | 18.73 | 23.42 | 31.58 | 44.23 | 54.59 | 101.36 | 154.96
(Clevis pin, Cotter pin)
Trunnion 19.33 | 24.11 | 32.64 | 44.78 | 56.65 | 107.62 | 156.37
Additional weight per 100 stroke 2.66 3.01 3.58 4.95 5.75 9.08 | 12.15
Single knuckle joint 0.91 1.16 1.56 3.07 2.90 5.38 10.82
Double knuckle joint
Al
ccessory (Clevis pin, Cotter pin) 1.37 1.81 2.48 4.74 4.59 9.22 17.17
Trunnion 0.16 0.16 0.23 0.32 0.85 1.26 1.43

1.10-4

/\ Precautions

o mm mm o Em Em o e Em e e Em o

| Be sure to read before handling. |
; Refer to p.0-39 to 0-43 for

1 Safety Instrnctions and

I common precautions.

A Warning

Do not use the cylinder as a shock

absorber.

* Using the cylinder as a shock
absorber may cause damage.

/A Caution

Do not open the cushion valve excessively.

« If the cushion valve is rotated
excessively in the opening direction
could be damaged because the portion
of the threads that is engaged
(counterclockwise), be aware that the
valve could slip out, or the threads
becomes too short.

Regarding the installation of a knuckle joint:

» Contact SMC if a knuckle joint must be
installed on the piston rod by using the
rod end nut.



Construction

Air Cylinder/Standard Serfies

CS1

Lube B 4i2E zsngt-;i:ﬁxé'srij RRG B CERRORD QNND
o
o l'% ' . b
LA T2 T2 E2 022 2 (0026058 D010
Non-lube ‘ i T, TR _
o
Aluminum tube
1 g cpo e
Alr-hydro @y HP QROREHD BE 2 OBPBOWE D10
{ et AT A
[
- [ I._|—-
L[] :
D E —== =
L i
Aluminum tube
Component Parts Seal List
No. Description Material Note . Part No.
No.| Description |Mat'
@ |Rod cover Rolled steel plate|  Balck coated 125 ‘ 140 ‘ 160 ‘ 180 ‘ 200 ‘ 250 ‘ 300
(2 |Head cover Rolled steel plate| ~ Black coated Lube style
© Cylinder [#125 to g160 | Aluminum alloy| Hard anodized @ |wiper ring SDR-36 | SDR-36 | SDR-40 | SDR-45 | SDR-50 | SDR-60 | SDR-70
tube 2125 to 300 [Carbon steel pipe| Inside: Hard chrome plated 29**| Cushi ] _ PCS-85(R)
@ |Piston Castiron ** ushion seal DSM-50S | DSM-50S | DSM-50S | DSM-60S | DSM-60S | DSM-75S DSHTESH)
(® |Piston rod Carbon steel |Hard chrome plated @ |Rod seal P36 P36 P40 P45 P50A P60 P70
(®) |Holder plate Cast iron Black coating 6 |Piston seal NBR P115 P130 P150 P165 P185 P235 P285
@ |Bushing Lead bronze casting @) |Valve seal P7 P7 P7 P7 P7 P7 P7
Valve guide Brass Tube gasket C120 C135 C155 C175 C195 | CSI60-161864 | CS160-1618:65
(9@ |Tie rod Carbon steel Chromated 29**| Piston seal G25 G25 G25 G35 G35 G45 G45
Tie rod nut Rolled steel |Black zinc chromated Holder gasket G55 G55 G55 G65 G65 G80 G90
@) | Spring washer Steel wire  |Black zinc chromated 3)**| Guide gasket N-125-15 | N-125-L5 | N-12515 | N-125-L5 | N-125-15 | N-125-15 | N-12.5-15
@ Holder plate bolt Chrome-molybdenum steel | Black zinc chromated Non-lube style Seals except @ and 26 are the same as for the lube-style.
(3 | Spring washer Steel wire  |Black zinc chromated @5 |Rod seal PNY-36 | PNY-36 | PNY-40 | PNY-45 | PNY-50 | PNY-60 | PNY-70
Cushion ring A Rolled steel Zinc chromated @6 |Piston seal NBR NLP-125A | NLP-140A | NLP-160A | NLP-180A | NLP-200A | NLP-250A | NLP-300A
@9 |Cushion ring B Rolled steel Zinc chromated Ai I'-hyd ro style Seals except @ and @ are the same as for the lube-style. (Except cushion seal)
Cushion valve Rolled steel |Electroless nickel plated 2 |Rod seal SKY-36 | SKY-36 | SKY-40
@) |Spacer A Rolled steel | Zinc chromated 20 |Piston seal NBR RPS-125 | RPS-140 | RPS-160
Spacer B Rolled steel Zinc chromated
Air releasing valve B| Rolled steel | Zinc chromated Replacement Parts (Seal kits)
@0 | Air releasing valve A |Chrome-molidenun stel eRefer to p.1.10-6 for replacement part no. for air cylinder standard style series CSL1.
@D | Check ball Chrome bearing steel ++eSeal kits does not include cushion seal, piston seal and guide gasket because they
@2 | Tie rod reinforcement ring* | Rolled steel Black coated are not replacement parts.
32 |Wear ring Resin

* In case of long strokes

*3% Aluminum tube material of non-lube and air-hydro style is an aluminum

alloy die cast.

1.10-5

we




Series CS1

Standard Style/Replacement Parts (Seal Kits)

When ordering the replacement parts
(seal kits) for standard style Series CS1
air cylinders, indicate the order number
listed in the table on the right.

Each set of replacement parts contains the
following: wiper ring, rod seal, piston seal,
valve seal, tube gasket, and push plate
gasket (for 1 cylinder).

1.10-6

Standard style (Lube)

Bore (mm) Kit No. 23 2 26 Ll 28 30
Wiper ring | Rod seal | Piston seal | Valve seal | Tube gasket | Holder gasket
125 CS1-125A-PS | SDR-36 P36 P115 P7 C120 G55
140 CS1-140A-PS | SDR-36 P36 P130 P7 C135 G55
160 CS1-160A-PS | SDR-40 P40 P150 P7 C155 G55
180 CS1-180A-PS | SDR-45 P45 P165 P7 C175 G65
200 CS1-200A-PS | SDR-50 P50A P185 P7 C195 G65
250 CS1-250A-PS | SDR-60 P60 P235 P7 CS160-1618-G4|  G80
300 CS1-300A-PS | SDR-70 P70 P285 P7 CS160-1618-G5|  G90
Standard (Non-lube)
Bore (mm) Kit No. 23 G 26 Gl 28 0
Wiper ring | Rod seal | Piston seal | Valve seal | Tube gasket | Holder gasket
125 CSIN125A-PS | SDR-36 | PNY-36 | NLP-125A P7 C120 G55
140 CSIN140A-PS | SDR-36 | PNY-36 | NLP-140A P7 C135 G55
160 CSIN160A-PS | SDR-40 | PNY-40 | NLP-160A P7 C155 G55
180 CSIN180A-PS | SDR-45 | PNY-45 | NLP-180A P7 C175 G65
200 CSIN200A-PS | SDR-50 | PNY-50 | NLP-200A P7 C195 G65
250 CSIN250A-PS | SDR-60 | PNY-60 | NLP-250A P7 CS160-1618-G4|  G80
300 CSIN300A-PS | SDR-70 | PNY-70 | NLP-300A P7 CS160-1618-G5|  G90
Air-hydro
Bore (mm) Kit No. Wiper ring | Rod seal | Piston seal | Valve seal | Tube gasket | Holder gasket
125 CS1H125A-PS | SDR-36 | SKY-36 | RPS-125 P7 C120 G55
140 CS1H140A-PS | SDR-36 | SKY-36 | RPS-140 P7 C135 G55
160 CS1H160A-PS | SDR-40 | SKY-40 | RPS-160 P7 C155 G55




Series CL1S1
|

Basic/CS1B

Lube (CS1B), Non-lube (CS1BN), Air-hydro (CS1BH)

With rod boot

i FA_G 2Rc(PP G J
MM T 7 =
% -t i ——————{tiL ©) [©)
: NN d]!
o
s 41818] H é . é‘ i
! 0
al | | B — ©)
3 L e [ -
h+ ¢ H S + Siroke M ac
ZZ1+ ¢ + Stroke 22 + Stroke B
With auto switch/CDS1B
With rod boot }'{aﬁhm“ FA_G 2-Rc(PT)P G =Hs ]
MM T"{“ ] 17
1\ ——TF ®
| R . | =
| T 1= 1 ]
s 5581 4 '*é‘
' i lj
L = f ] L-
| N Ei__ E - _? : o
el f A K LFIN] 33 N
h+ ¢ H S + Stroke 1M 1C
ZZ1 + ¢+ Stroke Z7 + Stroke I[:]
(mm)
Styl Bore Stroke range
tyle (mm) (mm)* A | AL |OB|OC| D E EA | F FA | G J K |KA| M MM N P S
Lube 125 t0 1000 | 50 | 47 |145|115| 36 | 90 | 59 | 43 | 14 | 16 | M14X15 | 15 | 31 | 27 | M30X15 | 35 | /2 | 98
Non-lube 140 to 1000 50 | 47 [ 161|128 | 36 | 90 | 59 | 43 | 14 | 16 [ M14X15 | 15 | 31 | 27 | M30X15 | 35 | /2 | 98
Air-hydro 160 to 1200 56 | 53 [182|144| 40 | 90 | 59 | 43 | 14 |18.5|M16X 15 | 17 | 36 |30.5| M36X 1.5 | 39 | 3/4 | 106
180 to 1200 63 | 60 [204|162| 45 [115| 70 | 48 | 17 [18.5| M18X15 | 20 | 41 | 35 | M4OX 15 | 39 | 3/4 | 111
Lube 200 to 1200 | 63 | 60 | 226|182 | 50 |115| 74 | 48 | 17 |18.5| M20X15 | 20 | 46 | 35 | M45X15 | 39 | 34 | 111
Non-lube 250 to 1200 71 | 67 |277(225| 60 |140| 86 | 60 | 20 | 23 | M24X15 | 25 | 56 | 415 | M56 X2 | 49 1 |141
300 t01200 | 80 | 76 | 330|270 | 70 |140| 96 | 60 | 20 | 23 | M30X15 | 30 | 65 |515| MB64X2 | 49 | 1 |146
(mm)  With auto switch/g125 to 8200 only (mm)
Bore W/o rod boot W/ rod boot Bore Stroke range W/o rod boot | W/ rod boot
Style Style S
g mm) [H [zz]| e | f | h ¢ 7z: Y (mm) | (mm)* 7z 771
Lube 125 110 | 235 | 75 40 | 133 0.2 Stroke 258 Lube 125 to 1000 98 235 258
Non-lube 140 110 | 235 | 75 40 | 133 0.2 Stroke 258 Non-lube 140 to 1000 98 235 258
Air-hydro 160 120 | 2565 | 75 | 40 | 141 | 0.2Stroke |277.5 Air-hydro 160 t0 1200 | 106 256.5 2775
180 135 | 281 | 85 45 | 153 0.2 Stroke 299 Lube 180 to 1200 115 285 303
Lube 200 135 | 281 | 90 45 | 153 0.2 Stroke 299 Non-lube 200 to 998 120 290 308
Non-lube 250 160 | 3425 | 105 | 55 | 176 | 0.17 Stroke | 358.5 * Oth?r dimensions arfe trclje same as stfandard stylﬁ.
+x Refer to p.1.10-20 for dimensions of auto switch setting position
: 300 175 .372.5 11.5 55 | 190 0.17 Stroke | 387.5 and mounting height.
* In case of rod boot style, min. stroke is 30mm or more. x#x Refer to p1.10-8 for auto switch min. mountable stroke.
i CS1B125.......- SCS1125,#1  * The drawing shows with an auto switch. Eliminate the unnecessary parts.
D CS1B140:-:++-+ SCS1140, #1
CS1B160::::::+ SCS1160, #1
CS1B180::--::- SCS1180, #1
CS1B200::+++-+ SCS1200, #1
CS1B250:::::::+ SCS1250, #1
CS1B300::--::- SCS1300, #1

1.10-12



Foot/CS1L

Air Cylinder Series CDS.Z

Lube (CS1L), Non-lube (CS1LN), Air-hydro (CS1LH)

Width across H 5 +5troke
flats KA A K F IG 2Rc(PT)P
MM AL A,
\\\\ 8
2|25 4 -
8
G
51 |_‘-' X LN
LS 4+ Stroke
21+ ¢+ Stroke 27 +5troke
Long stroke
\Width across H S+ Stroke
flats KA A_K_F IG 2RePP
MM AL FA, e
with rod boot \ & . == 3
LY : x
= sCEH e —
=t i‘r { |
e |1 Syl x 1w LRT ]
h+ ¢ LS + Stroke
L8y + €+ Strake 77 +Siroke
With auto switch/CDS1L
H S+5Stroke =Hs J
Wid
s ka > [ A K _F G 2R(PT)P
MM \LAL EA : = .
With rod boot AN : | — @ @f
e ! g =) T &
5 n
= SRl e - P
4-0lD | -
e B/% o
= F‘I"" | j — + . +
£ 4 L B T T M Nl x |v] | x|
h+? - LS+Stroke 1 l C
221+ ¢+ Siroke 77 +Stroke B (mm)
Style Bore |Stroke range | Long stroke
(mm) | (mm)* |range (mm) A |AL| B |OC| D | E |EA| F |[FA| G J K |KA|LD|LH|LS|LT|LX|LY| MM [N | P [RT
Lube 125 |to 1400 | 1401t01600 | 50 | 47 | 145|115| 36 | 90 | 59 | 43 | 14 | 16 [M14X15| 15|31 | 19 | 85|188| 8 | 100 |1575|M30X15| 35 |1/2 | 36
Non-lube| 140 |to 1400 | 1401t01600 | 50 | 47 | 161|128 |36 | 90 | 59 | 43 | 14 | 16 |M14X 15[ 15 [ 31 [ 19 (100|188 | 9 |[112 (1805 |M30X15| 35 [1/> | 36
Air-hydro| 160 | to 1400 | 1401101600 | 56 | 53 | 182 | 144 | 40 | 90 | 59 | 43 | 14 | 185 |M16X 15| 17 | 36 | 19 | 106|206 | 9 | 118|197 |M36XL5| 39 |3/4 | 45
180 |to 1800 | 180102000 | 63 | 60 | 204 | 162 | 45 |115| 70 | 48 | 17 |185|M18X15| 20 | 41 | 24 [ 125|231 | 10 | 132 | 227 |M4OX 15| 39 |3/ | 45
Lube 200 |to 1800 | 180102000 | 63 | 60 | 226 | 182 | 50 | 115 | 74 | 48 | 17 | 185 |M20X 15| 20 | 46 | 24 | 132|231 | 10 | 150 | 245 | M45X 15| 39 (3/a | 45
Non-lubel 250 | t0 2000 | 2001102400 | 71 | 67 | 277 | 225| 60 | 140| 86 | 60 | 20 | 23 [M24X 15| 25 | 56 | 29 | 160 | 301 | 12 | 180 | 2085|M56 X 2| 49 | 1 |55
300 |to 2000 |2001to2400 | 80 | 76 | 330|270 | 70 | 140 | 96 | 60 | 20 | 23 [M30X 15| 30 | 65 | 33 | 200 | 326 | 15 | 212 | 365 |M64X2| 49 | 1 |55
(mm) With auto switch/g125 to 200 only (mm)
Bore W/o rod boot W/ rod boot Bore |Stroke range] Wi/o rod boot | W/ rod boot
Style Style S | LS
Y mm) RS IX Y Ty Tz e 1] n ¢ 77 b (mm) (mm) 77 Y741
Lube 125 |164|98 | 45|20 | 110|273 | 75 | 40 | 133 0.2 Stroke | 296 Lube 125 to 1400 | 98 | 188 273 296
an—lube 140 [184|98 |45 |30 (110|283 | 75 | 40 | 133 0.2 Stroke | 306 Non-lube 140 to 1400 | 98 | 188 283 306
Air-hydrol 160 [ 204 | 106 | 50 | 25 [ 120|301 | 75 | 40 | 141 [ 0.2 stroke | 322 Airhydro| 160 | t0o1400 |106|206| 301 322
180 [228(111|60 |30 |135|336| 85 | 45 | 153 | 0.2 Stroke | 354 Lube 180 to 1500 | 115|235 340 358
Lube 200 |257|111|60 | 30 |135|336| 90 | 45 | 153 | 0.2 Stroke | 354 Non-lube| 200 to 998 120 | 240 345 363
Non-lube| 250 |325|141| 80 | 40 | 160 | 421|105 | 55 | 176 |0.17 Stroke| 437 * Other dimensions are the same as standard style.
#% Refer to p.1.10-20 for dimensions of auto switch setting
300 |390 l4§ 90 49 175 (451|115 | 55 | 190 |0.17 Stroke| 466 position and mounting height.
*In case of rod boot style, min. stroke is 30 mm or more. x#x Refer to p.1.20-8 for auto switch min. mountable stroke.
CS1L125-----+- SCS1125, #2 CS1L200:----++ SCS1200, #2
H CS1L140:--------SCS1140, #2 CS1L250:::--::--SCS1250, #2 . . . o
CS1L160:----SCS1160, #2 CS1L300 -+ SCS1300, #2 * The drawing shows with an auto switch. Eliminate the unnecessary parts.
CS1L180:---+++- SCS1180, #2

1.10-13

we
CS1




Series CLL1S1

Front Flange/CS1F

Lube (CS1F), Non-lube (CS1FN), Alr-hydro (CS1FH)

Width across FA G 2-Re(PT)P
flats KA
With rod boot MM . <
a8 £ = )
NN !
2l s[5 He
- 4
f 1L 0©
AL ET C
& |1 A KLF N B
ht ¢ H S 4+ Stroke
ZZ1+ ¢ + Stroke 77 + Stroke EZ
Long stroke
; 2-R p
‘Width across &.B' =P,
flats KA v
MM 1 =]
R i —— o6
Y :
wlsle ~a P _|E .
s |ile Al ki
i
AL Tl RT
A K LFE LN P
hey £ | 5 + Stroke
ZZ1 + £ I Slroke 77 + Stroke 2
With auto switch/CDS1F
Mﬁm across EA 2-Re(PT)P =Hs 14. FD
ats KA
with rod boot MM 8
=1 N =1 — G © .qg
- \ \\ o | A
Y i N
2= )8l & 4 aa
AL [
[ f A K T—EI N 33 LB
h+ ¢ I S + Stroke X
Z71 + ¢ + Siroke 77 + Siroke [
(mm)
Bore Stroke W/o rod boot| With rod boot
Style range | A |AL| B |OB|CIC| D | E |EA| F |FA|FD|FT |FX|FY|FZ| G J KIKAIM|S|N|P| MM
(mm) | (mm)* H|zZ|e|f |h| ¢ |Zz
Lube 125 |t0 1400 |50|47 |145(145(115|36 |90 |59 |43|14|19|14(190{100(230|16 |M14X 15/15|31|30|98 |35 |/, [M30X1.5|110|238| 75 |40 |133 261
an-lube 140 |to 1400 |50|47|160|161|128(36 (90|59 |43 |14|19|20(212|112{255|16 |M14X 15(15|31|24 (98|35 |/, IM30X15[110(232| 75|40 [133 02 @
Air-hydro 160 |to 1400|5653 (180|182|144|40|90|59|43|14|19|20(236(118|275|185|M16X 15|17 | 36|26 |106|39 |3/4 [M36 X 1.5120|252| 75 |40 |141 St.roke 273
180 |to01800 |63|60|200|204|162|45 |115|70|48|17 |24 |25 |265(132(320(185|M18 X 15(20|41 |31 |111|39 (3/, [MA0X15[135(277| 85|45 [153 @
Lube | 200 |to 1800|6360 |225(226|182(50|115|74|48|17|24 |25 |280|150335[185[M20 X 15|20 | 46|31 |111|39 |3/4 |M45X 1.5|135|277| 90 |45 |153 295
Non-lube 250 [t02000| 71|67 |275(277|225|60 |140|86| 60|20 |29 |30 355|180 (420|23 |M24 X 1.5/ 25|56 | 35(141|49 | 1 |M56 X 2|160|336|105 (55 |176 | 0.17 X |352
300 |t02000|80|76/330(330(270(70(140(96 | 60|20 |33 |30 |400|212(475|23 [M30X 1.5/ 30 |65 |48|146|49| 1 |[M64 X 2|175|369|115|55 |190 | Stroke |384
Long stroke (mm) With auto switch/g125 to 200 only (mm)
Bore Long stroke W/o rod boot | W/ rod boot Bore  [Stroke range W/o rod boot |W/ rod boot
Style Style S
4 (mm) | range(mm) | M+ | Me | RTIRY 77 771 Y (mm) (mm) 7z 771
Lube 125 | 1401101600 | 22 | 22 | 36 |164| 230 253 Lube 125 | to1400 |98 | 238 261
N_on-lube 140 1401t01600 | 19 | 19 | 36 | 184 227 250 Non-lube | 140 to 1400 | 98 232 255
Airhydro| 160 [ 1401101600 | 22 [ 22 | 45 [204| 248 269 Airhydro | 160 | t01400 |106| 252 273
180 1801t0 2000 | 26 | 26 | 45 | 228 272 290 Lube 180 to 1500 (115 281 299
Lube 200 | 1801102000 | 26 | 26 | 45 |257 | 272 290 Non-lube | 200 0998 [120| 286 304
Non-lube| 250 | 200102400 | 30 | 30 | 55 |325] 331 347 * Other dimensions are the same as standard style.
300 | 2001102400 | 36 | 36 | 55 |390| 357 372 *Eggﬁf;ﬁ gﬁﬂﬁéﬁ%ﬁ;dﬁggﬂfms of auto switch setting
* In case of rod boot style, min. stroke is 30mm or more. ==+ Refer to p.1.10-8 for auto switch min. mountable stroke.
[ ] CS1F125:---- SCS1125, #3 CS1F200::-- SCS1200, #3
CS1F140-:-------SCS1140, #3 CS1F250::::----SCS1250, #3 . . . o
CS1F160--------SCS1160, #3 CS1F300:-++ - SCS1300, #3 * The drawing shows with an auto switch. Eliminate the unnecessary parts.
CS1F180::--- SCS1180, #3

1.10-14



Rear Flange/CS1G

Air Cylinder Series CDSl

Lube (CS1G), Non-lube (CS1GN), Air-hydro (CS1GH)

. FA_G  2-RelPT)P G J
With rod boot b F 4.0FD N
N T’ 1% 1%
X L E} /’ \ {9
L — "R
Cili——————— 8 B 19
AL ac
A K LELN LN B
h H S+Stroke FX
ZZ1+ ¢+ Stroke ZZ+Siroke FZ
With auto switch/CDS1G
FA_G 2-Re(PTP G =Hs 1
el kA i e
With rod boot .%\\ ; .
wle ! f
=y o s3] ; @ : Kj e
I 1 1
£ _ju i = gy
: e = 'l 1% T 00
AL P oc |
el Akl LFIn] 33 N OB
h+¢ H S+Siroke El FX
221+ ¢+ Stroke ZZ+Slroke [
(mm)
Bore | Stroke range
Style . A|AL| B |[OB|OC| D | E |[EA| F |FA|FD|FT |FX|FY|FZ| G J K |[KA| MM N ([P
(mm) (mm)

Lube 125 | t01000 |50 | 47 | 145|145 |115| 36 | 90 | 59 | 43 | 14 | 19 | 14 | 190 | 100 | 230 | 16 |M14 X 1.5| 15 | 31 [M30 X 1.5/ 35 | %>
Non-lube| 140 | to 1000 |50 | 47 | 160 | 161|128 | 36 | 90 | 59 | 43 | 14 | 19 | 20 | 212 | 112 | 255 | 16 |{M14 X 1.5| 15 | 31 [M30 X 1.5 35 | />
Air-hydro | 160 | 101200 | 56 | 53 | 180 | 182 | 144 | 40 | 90 | 59 | 43 | 14 | 19 | 20 | 236 | 118 | 275 [ 185|m16 X 1.5] 17 | 36 [M36 X 1.5 39 | 314

180 | to 1200 | 63 | 60 | 200 | 204 | 162 | 45 | 115 | 70 | 48 | 17 | 24 | 25 | 265 | 132 | 320 | 18.5|M18 X 1.5| 20 | 41 [M40 X 1.5| 39 | 3/,
Lube 200 | t01200 | 63 | 60 | 225|226 | 182 | 50 | 115 | 74 | 48 | 17 | 24 | 25 | 280 | 150 | 335 | 18.5|M20 X 1.5| 20 | 46 |M45 X 1.5/ 39 | 3/,
Non-lube [ 550 | 191200 | 712 | 67 | 275 | 277 | 225 | 60 | 140| 86 | 60 | 20 | 29 | 30 | 355 | 180 | 420 | 23 M24 x 1.5] 25 | 56 [M56 X 2 | 49 | 1
300 | t01200 | 80 | 76 | 330|330 | 270 | 70 | 140 | 96 | 60 | 20 | 33 | 30 | 400 | 212 | 475 | 23 [M30 X 1.5/ 30 | 65 |[M64 X2 | 49 | 1
(mm) With auto switch/@125 to 2200 only (mm)
W/o rod hoot W/ rod boot W/o rod boot W/ rod boot
Style Bore s Style Bore Stroke range. s
(mm) H|zz|e| f|h ¢ 77 (mm) (mm) Y74 771

Lube 125 | 98 110|222 | 75 | 40 | 133|0.2 Stroke| 245 Lube 125 to 1000 | 98 222 245
Non-lube | 140 | 98 (110|228 75 | 40 | 133|0.2 Stroke| 251 Non-lube | 140 to 1000 | 98 228 251
Air-hydro [ 160 | 106 | 120 | 246 | 75 | 40 | 141]0.2 Stroke| 267 Airhydro 77160 | 01200 |106| 246 267

180 | 111 | 135|271 85 | 45 | 153|0.2 Stroke| 289 Lube 180 to 1200 |115| 275 293

Lube 200 |111|135|271| 90 | 45 | 153 |0.2 Stroke| 289 Non-lube | 200 t0998 |[120| 280 298
Non-lube [ 550 [ 141 160331 105 55 | 176 [0.17 Stroke| 347 x Other dimensions are the same as standard style.

300 146 1175 | 3511 115 | 55 | 190 |0.17 Stroke| 366 +x Refer to p.1.10-20 for dimensions of auto switch setting position

# In case of rod boot style, min. stroke is 30mm or more.
CS1G125:-+++-- SCS1125, #4

CS1G140-
CS1G160-

CAD

--SCS1140, #4
--SCS1160, #4

CS1G180-++++++ SCS1180, #4

* The drawing shows with an auto switch. Eliminate the unnecessary parts.

CS1G200:++- SCS1200, #4

CS1G250:--

-SCS1250, #4

CS1G300:++:--- SCS1300, #4

and mounting height.

=#x Refer to p.1.10-8 for auto switch min. mountable stroke.

1.10-15

we
CS1




Series CLL1S1
i

Single Clevis/CS1C

Lube (CS1C), Non-lube (CS1CN), Air-hydro (CS1CH)

FA_ G 2-Rc(PT)P o CDHI0 i
A [EE, /_
With rod boot MM - - . -
20\ = TE 3 3
LAY dl: !
g/ s S -He — ol &)
my
| _ug = e 4= r/ -@- i (‘)
& ] C
AKILFELN N L u |
h+? il S+Stroke B I _C_KJ
71+ ¢4 Stroke Z+3troke RR o]
2721+ ¢ +Stroke ZZ+5lroke 1B
With auto switch/CDS1C
Widih across FA_ G 2-Rc(PT)P o CDH10 =Hs 1
flats KA b f{ | \
MM iflw i1 .-. - "'
—\N\_ EE = —[ N O o)
ek , I g
O ]
w 5 &l | JL é,_m_ A
=] o [} LI | ‘ﬂﬂ
: = = o l
& == Y o Q)
AL i "‘ e J
A F N 33 MW u
H S+Stroke S O [CX
Z+Slroke R fc
271+ £+ Stroke ZZ+Stroke 1B :
mm)
Bore |Stroke range
Style mm) | (mms | A [AL|OB|OC| CDHwo |CT|  CX D|E|EA| F|FA| G J K|KA|L| MM |N|P|RR
Lube 125 | t01000 |50 |47 |145|115| 25*39%* | 17 | 32231 |36 |90 |59 |43 |14 |16 [M14 X 1.5/ 15|31 | 65 [M30 X 1.5/ 35 | > | 29
Non-lube| 140 | to 1000 |50 |47 |161|128| 28%9%4 | 17| 3602 |36 (90|59 |43 |14 |16 |M14X.5|15|31|75|M30X15/35| Y |32
Air-hydro| 160 | 101200 |56 |53 182|144 | 32*31% [ 20| 403} |40|90 |59 |43 |14 |185|M16 X 1.5/ 17 | 36 | 80 [M36 X 1.5/ 39 | 3/, | 36
180 | t01200 |63 |60 |204|162| 40731 (23| 5033 |45 |115|70 |48 |17 |185|M18 X 1.5 20 | 41 | 90 [M40 X 1.5/ 39 | %/4 | 44
Lube 200 | t01200 | 63|60 |226|182| 40*31 | 25| 50231 |50 |115|74 | 48|17 [185|M20 X 1.5| 20 | 46 | 90 |M45 X 1.5| 39 | 3/ | 44
Non-lube| 250 | 01200 |71 |67 |277]225| 50*31° | 30| 6331 |60 140|386 |60 |20 23 |M24x1.5] 25|56 |110|M56 X2 |49 1 |55
300 | to1200 |80 | 76(330|270| 63"0'%° |37 | 80233 |70|140|96 |60 |20 |23 [M30X 1.5/ 30 | 65 [130|[M64 X2 |49 | 1 |68
(mm) With auto switch/g125 to 8200 only (mm)
Style Bore slu W/o rod boot W/rod boot Style Bore Stroke range s WI/o rod boot |W/ rod boot
(mm) H|z|zz|e| f|h ¢ 71 |ZZ2a (mm) (mm) Z |72z |21 |Z2a
Lube 125 |98 |35 |110|273|302| 75 | 40 |133|0.2 Stroke | 296 | 325 Lube 125 | to 1000 | 98 | 273|302 | 296 | 325
Non-lube| 140 |98 |40 | 110|283 |315| 75 | 40 | 133 0.2 Stroke | 306 | 338 Non-lube | 140 | to 1000 | 98 | 283|315 | 306 | 338
Air-hydrol™ 160" [ 106 | 45 | 120 | 306 | 342 | 75 | 40 | 141 | 0.2 Stroke | 327 | 363 Air-hydro 960 | t0 1200 | 106 | 306 | 342 | 327 | 363
180 | 11150 | 135|336 (380 | 85 | 45 |153 | 0.2 Stroke | 354 | 398 Lube 180 | to 1200 | 115|340 |384 | 358 | 402
Lube 200 |111|50 | 135|336 (380 | 90 | 45 | 153 | 0.2 Stroke | 354 | 398 Non-lube | 200 0998 | 120 | 345|389 | 363 | 407
Non-lube| 250 [ 141] 65 | 160 | 411 | 466 | 105 | 55 | 176 [0.17 Stroke| 427 | 482 * Other dimensions are the same as standard style.
+* Refer to p.1.10-20 for dimensions of auto switch setting
300 | 146] 80 | 175]451|519 115 | 55 | 190 |0.17 Stroke| 466 | 534 position and mounting height.
* In case of rod boot style, min. stroke is 30mm or more. «+x Refer to p.1.10-8 for auto switch min. mountable stroke.
CS1C125----SCS1125, #5 CS1C200------SCS1200, #5
CS1C140---SCS1140, #5 CS1C250------SCS1250, #5
LU CS1C160-------SCS1160, #5 CS1C300------SCS1300, #5

CS1C180 SCS1180, #5

* The drawing shows with an auto switch. Eliminate the unnecessary parts.

1.10-16



Double Clevis/CS1D

Air Cylinder Series CDSl

Lube (CS1D), Non-lube (CS1DN), Air-hydro (CS1DH)

FA_ G 2-Re(PT)P

Width across aCD hole H10
flats KA |S Axial 49
MM | = = 1|.~ - 0
o | ' 1L g
] (=] | 101 | A |
=N olh) FHELE-
f L
7} - - =T 0 0,
x N cr
4 LF NCE Ly (=4
H S+Stroke L CZ
Z+Siroke LIC
ZZ1+¢ +Stroke Z7+Stroke LB
With auto switch/CDS1D
Width across FA_G 2-Rc(PT)P ﬁ oCD hole H10 ® Hs J
With rOd ".'IDO' flats KA _1}_: Amal 99 \_
MM 3 v i B
SN E o
8 = #3/8]} ¢ -5e)
) ] L 4
/
C;i_ { Oj
A K
A F N ¥
h+¢ i S+Stroke L]
71+¢+-Stroke Z+Shroke RR
221+ + Stroke Z7+5lroke
(mm)
Bore |Stroke range
Style 7% A [AL|oB|OC| cDro [cT|  cx cz |D|E|EA|F|FA|G J KIKA|L| MM |N|P|RR
(mm) | (mm)

Lube | 125 | t01000 |50|47 |145|115|25'0%% |17 | 32103 | 64.5, |36|90|59 43|14 |16 |M14X 15/ 15|31 |65 |M30 X 1.5/35 | Y2 | 29
Non-lube| 140 | to 1000 |50 |47 |161]128| 28*3%%* | 17| 36333 | 723, | 36|90 |59 43|14 |16 |[M14X 15|15 |31 |75|M30 X 1.5/35 | 2 | 32
Air-hydro| 160 | to 1200 | 56|53 | 182|144 | 32°91% [20] 40333 | 80.3, |40| 90|59 |43 |14 |185|M16 X 1.5/ 17 |36 | 80 |M36 X 1.5 39 | %/4 | 36

180 | t0 1200 |63 |60 |204|162| 40752 | 23| 50153 | 100-83 |45 |115|70 | 48|17 |185[M18 X 1.5/ 20 | 41 | 90 |M40 X 1.5/ 39 | %4 | 44

Lube 200 | t01200 | 63|60 |226[182| 40°31% | 25| 50703 | 100233 |50 115|74 |48 |17 |185|M20 X 1.5/ 20 | 46 | 90 [M45 X 1.5/ 39 | 34 | 44

Non-lubel™ 250 | t0 1200 | 71|67 |2r7]225] 5073 [30] 63133 | 126 3% [60]140] 86602023 M24 x 1.5] 25 [ 56 [ 110 |M56 X 2 [49] 1 |55
300 | t01200 | 8076330 |270] 63'31%° | 37| 80133 | 16033 | 70|140| 96|60 | 20|23 |M30X 1.5/ 30 | 65130 |M64 X 2 |49 1 |68
(mm) With auto switch/@125 to 200 only (mm)
W/rod boot W/o rod boot |W/ rod boot

Style Bore | o |, Wr/o rod boot Style Bore  [Stroke range|
(mm) H|z|zz|e | f|h ¢ 71 |ZZa (mm) (mm) Z |22 | 21 |Z221

Lube 125 |98 |35 |110|273|302| 75 | 40 | 133 | 0.2 Stroke | 296 | 325 Lube 125 | 101000 | 98 |273|302 | 296 | 325
Non-lube| 140 |98 |40 |110|283|315| 75 | 40 | 133 |0.2 Stroke | 306 | 338 Non-lube | 140 | t0 1000 | 98 | 283 | 315306 | 338
Air-hydro| 160 | 106 | 45 120|306 | 342 | 75 | 40 |141|0.2 Stroke | 327 | 363 Air-hydro 160 | 10 1200 | 106 | 306 | 342 | 327 | 363

180 |111|50 |135|336|380 | 85 | 45 | 153 |0.2 Stroke | 354 | 398 Lube 180 to 1200 | 115 | 340 | 384 | 358 | 402

Lube 200 |111|50 |135|336|380 | 90 | 45 |153|0.2 Stroke | 354 | 398 Non-lube | 200 t0 998 | 120 | 345 | 389 | 363 | 407
Non-lube| 250 | 141 65 | 160 | 411 | 466 | 105 | 55 | 176 |0.17 Stroke | 427 | 482 x Other dimensions are the same as standard style.

300 146 | 80 | 175 | 451 | 519 | 115 | 55 | 190 [0.17 Stroke | 466 | 534 ++ Refer to p.1.10-20 for dimensions of auto switch setting

* In case of rod boot style, min. stroke is 30mm or more.

] CS1D125-
ﬁ CS1D140-
CS1D160-

CS1D180

------- SCS1125, #6
--SCS1140, #6
-+-SCS1160, #6

--------- SCS1180, #6

CS1D200
CS1D250--

CS1D300

--------- SCS1200, #6

~SCS1250, #6

--------- SCS1300, #6

* The drawing shows with an auto switch. Eliminate the unnecessary parts.

position and mounting height.
=% Refer to p.1.10-8 for auto switch min. mountable stroke.

1.10-17

we
CS1




Series CLL1S1

Center Trunnion/CS1T

(07:10)

Lube (CS1T), Non-lube (CS1TN), Air-hydro (CS1TH)

With rod boot

Z1+ ¢ 4 1/2 Stroke Z+1/2 Stroke J
FA_ G 2-RcPT)P
Width across
MM flats KA 1T -
N s =———— = j@;
K=o | é
1] a
(i w ﬁ a1 f'\ —— -
=] =l oy el { \uF} Pt
4 = == h| | | ¢
AL T Cic
| A KLE IN ml:]
H S+Stroke T
ZZ1 F £+ Stroke Z7+5troke 1Z
With auto switch/CDS1T
With rod boot
Z1+¢+1/2 Stroke Z+1/2 Stroke = Hs 1
FA_ G 2-Rc(PT)P /
Width across !
MM flats KA - _% Y ﬂ@ @" 5
A " [Py—— [E CE— 3
| Fany =
L [=]
a1t 8 E 8| l é — = z
o H
€ == == @ | o
AL 1T 0c
elt A KILFE IN] 33 B
h=+¢ H 54 5troke TX
771 £ + Slioke ZZ+5iroke TZ
mm)
Bore | Stroke range
Style . | A|AL|OB|OC| D | E |EA| F |FA| G J K |KA[M| MM N|P|R|S| TbDes |TT|TX
(mm) (mm)

Lube 125 |25t01000 |50 | 47 |145|115|36 |90 | 59 | 43 | 14 | 16 [M14 X 1.5| 15 | 31 | 19 [M30X 1.5/ 35 [ %> | 1 |98 | 3225555 |50 [170
Non-lube| 140 |30t0o1000|50 |47 |161|128|36 |90 |59 | 43 | 14 | 16 [M14 X 1.5| 15 | 31 | 19 [M30 X 1.5/ 35 | ¥> |1.5| 98 | 3620335 |55 | 190
Air-hydro| 160 |35t 1200| 56 | 53 [ 182|144 | 40 | 90 | 59 | 43 | 14 | 185|M16 X 1.5| 17 | 36 | 22 [M36 X 1.5 39 | ¥4 |1.5[106| 40-3%3 |60 | 212

180 [30t01200| 63 | 60 | 204|162 | 45 [115| 70 | 48 | 17 |185|M18 X 1.5| 20 | 41 | 26 (M40 X 1.5/ 39 | 3a | 2 |111| 4529939 |59 |236

Lube 200 |30t01200| 63 | 60 | 226|182 | 50 | 115| 74 | 48 | 17 [185|M20 X 1.5| 20 | 46 | 26 [M45 X 1.5/ 39 | 34 | 2 |111| 4523335 |59 | 265

Non-lube 550 13010 1200 | 71 | 67 | 277 | 225 | 60 | 140 | 86 | 60 | 20 | 23 [M24 x 15| 25 | 56 | 30 [Ms6 X 2 | 49| 1 | 3 |141] 563980 |69 |335
300 |35t01200|80 | 76 |330|270| 70 | 140| 96 | 60 | 20 | 23 [M30 X 1.5/ 30 | 65 | 36 [M6a X2 |49 | 1 | 4 |146| 6720282 |79 |400
(mm) With auto switch/@125 to 2200 only (mm)

W/o rod boot W/rod boot WI/o rod boot
Style Bore TY | TZ Style Bore Strokerange| W/ rod boot
(mm) H|Zz|zz|e| f|h ¢ 71 |Z2a (mm) (mm) Z | 22| 21 |22

Lube 125 | 164|234|110|159 | 227 | 75 | 40 [133| 0.2Stroke | 182 | 250 Lube 125 | t0o 1000 | 98 |159 | 227|182 |250
Non-lube| 140 |[184|262|110|159 |227| 75 | 40 |133| 0.2Stroke | 182|250 Non-lube| 140 | t01000 | 98 | 159|227 | 182|250
Air-hydro | 160 | 204|292 120|173 | 248 | 75 | 40 | 141| 0.2Stroke | 194|269 Air-hydro[™ 160 [ to 1200 | 106 | 173 | 248 | 194 | 269

180 [ 228326135 | 105|272 | 85 | 45 153 | 0.2Stroke | 285 | 290 Lube 180 | to 1200 | 115 | 1925|276 | 2105 | 294

Lube 200 |257|355|135|1905 | 272 | 90 | 45 |153| 0.2 Stroke | 2085 | 290 Non-lube| 200 t0998 | 120 [ 195 | 281 | 213 | 299
Non-lube 550 {355 [ 447 160 | 205 | 331 [ 105 | 55 | 176 | 0.17 Stroke | 2465 | 347 * Other dimensions are the same as standard style.

300 |390|534]175 248357 | 115 | 55 | 190 | 0.17 Stroke | 263 | 372 ++ Refer to p.1.10-20 for dimensions of auto switch setting

* In case of rod boot style, min. stroke is 30mm or more
(In case of rod boot style of bore size 160 and 2300,

] CS1T125:+w SCS1125, #7
CS1T140-------SCS1140, #7
CS1T160---------SCS1160, #7

CS1T180:+++ SCS1180, #7

CS1T200
CS1T250
CS1T300

SCS1200, #7
-SCS1250, #7
SCS1300, #7

min. stroke is 35mm or more.)

* The drawing shows with an auto switch. Eliminate the unnecessary parts.

1.10-18

position and mounting height.

##% Refer to p.1.10-8 for auto switch min. mountable stroke.



Air Cylinder

Series CS1

Accessory Dimensions

Accessories

I type single knuckle joint*

Knuckle pin, Clevis pin

L
m = 7 = m
1
Al i o
i
Material: Cast iron 2_0{1' =
Bore Material: Carbon steel
Part No. (mm) Al | A | B | L1 MM ND#1o NX RR:1| Us ]
Part| Bore | g L | | | m]|@i |Cotter
I-12| 125 | 8 | 54|46 [100 | M30X 15 | 2573084 | 32701 | 27|33 No. |(mm) though)  Pin
I-14| 140 | 8 |54 |48 |105| M30x 1.5 | 28*3%4| 36733 [30]39 IY-12| 125 | 257995 [ 795 695| 5 | 4 |s4X 40
I-16| 160 | 8 |60 |55 |110|M36x 15| 32°3% | 403% [34]39 IY-14| 140 | 282023 |865(765| 5 | 4 |s4X40
I-18| 180 | 8 | 67|70 125 | M40 X 15 | 4073 | 50233 |425| 44 IY-16] 160 | 3275959 |945|845| 5 | 4 |s4X 40
1-20| 200 | 8 | 67|70 125 | M45X 15 | 40791 | 5033 |425| 44 1Y-18(180/200| 4073985 [115(105| 5 | 4 |#4X55
1-25| 250 | 9 |755|86 |160| M56 X2 | 5073 | 63231 |53 |66 IY-25| 250 | 5079980 (144 [132| 6 | 5 |#5X65
1-30| 300 | 9 |845[105|175| M64a X2 | 633 | 8035 |66 71 IY-30| 300 | 63°5%99 |178|166| 6 | 5 |s5X 80
Y type double knuckle joint * Rod end nut
oND hale H10 pam A
Axial d9)| .' T
rafae] — & Material: Cast iron
== 1 =
J 1 T - Bore
), 4 - Part No. (mm) Al |El| La MM NDHz1o NX NZ [RR1| Uz
UI —
—— | Y-12| 125 | 8 |46|100|M30x 15| 2575%% 32133 | 6433 |27 |42 Part No.|Bore (nm)]  d Hls]lclob
Y-14] 140 | 8 |48 |105|m30x15] 28*3%% 36133 | 7273%] 30| 47 NT-12 |125/140| M30X 15| 18 | 46 |53.1| 44
Y-16] 160 | 8 |55 | 110 M36x15] 32*°3% | 40733 | 803%]34 | 46 NT-16 | 160 |M36x15| 21 | 55 |635| 53
| v-18) 180 | 8 | 70| 125|meox 15| 4073* | 50333 | 10033 | w25 | 54 NT-18 | 180 |M40X15| 23 | 60 |69.3| 57
Y-20] 200 | 8 |70 |125|masx 15| 20*3* | 50283 | 10035 | 425 | 54 NT-20 | 200 |m4sx15| 27 | 70 |80.8| 67
Y-25| 250 | 9 |86 |160|M56X 2| 5070 | 63193 | 126205 |53 | 81 NT-25| 250 |M56x2| 34 | 85 |98.1| 82
Y-30| 300 | 9 |105|175|M64 X 2| 63°0%% | 80193 | 160205 | 66 | 87 NT-30 | 300 |me4x2| 38 | o5 |1100] 92

* Use a single knuckle joint or a double knuckle joint individually.
(Screw it entirely over the rod end threads and tighten it.)

# To use a single knuckle joint or a double knuckle joint concurrently with a rod end nut, extend dimensions A/H.
(To extend dimensions A/H, refer to the table below, and specify the product as Order Made -XAO.)

Single/Double knuckle joint mounting

==
&3
——— .‘.I
lr/ Sl = i
ﬁr'. 4= }

WA —~r-" /_

\\__ | N
= )

| A, H dimensions at using both single/

5 double knuckle joint and rod end nut

Symbol Applicable knuckle joint part No. Bore (mm) A H

Bore H A o L. H: :

(mm) I type single knuckle | Y type double knuckle 125 65 125
125 110 50 3.5 100 156.5 1-12 Y-12 140 65 125
140 110 50 S5 105 161.5 1-14 Y-14 160 76 140
160 120 56 3.5 110 170.5 1-16 Y-16 180 83 155

180/ 200 135 63 3.5 125 193.5 1-18, 1-20 Y-18, Y-20 200 88 160
250 160 71 3.5 160 245.5 1-25 Y-25 250 106 195
300 175 80 S5 175 266.5 1-30 Y-30 300 115 210

I Accessory SCS1[Bore size]#9

1.10-19

we

Material: Rolled steel



